Biostatistic 168 Homework


Due Friday, Feb. 28














This exercise refers to the example from Cox's  textbook, which was discussed in class.











1.  Still assuming the additive model, compute the estimate of the difference between men and women.  What can you conclude about the accuracy of this estimate compared to the estimate of the effect of treatment A?











2.  Suppose that there may be treatment by sex interactions:





� EMBED Equation.2  ��� .





Compute the estimate of the sex by Treatment A interaction.  Is the design favorable for estimating this effect?





